Début : INTO

Front descendant ?

durée<80us?

Sous-programme d'interruption déclenché par
le front montant ou descendant du signal DCC

Valeur du signal

validation du
préambule

Construction
d'octet

Octet[i]=

Octet[i]*2+DCC

Checksum=
ChecksumAOctet][i]

Passage
a

d'octet
suivant

Checksum= Octet[i] ?

utilisation trame

Octet[1]=
10aaaaaa ?

Octet[1]=0aaaaaaa &
Octet{2]=11101110?

Adresse Trame=
NumeroCV=
DonneeCV=

Adresse Trame=
SensChoisi=
Accessoire=

Octet[i]=0
Checksum=0

Preambule=0
i=1

Inversion Font ! ISCO0

Chronometre=0




